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210 2 EMe = 42,000 31,000 11,000
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212-08 JIELAE R 42,000 31,000 11,000
OZYFEINT(SH, 22 N4 B2, 242) B2 42,000
220 SAIEALI = 5,832,000 4,287,000 1,545,000
221 THAHOH2F =2 3,000,000 0 3,000,000
201-03 2RI L H2A 222 3,000,000 0 3,000,000
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227-02 LBt EZ 365,000 362,000 3,000
R 365,000
208 &gl 2,467,000 3,925,000| 1,458,000
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OFE XIS 2,300,000
OXsXE AL BEHS 2,000
208-04 THE2L0IHAH2 90,000 162,000 AT2,000
OXsxE AL HE= 30,000
OROYRXY HEZ 60,000
228-09 JIEt&E =& 75,000 30,000 45,000
OREUR 2N 28 2932 75,000
500 Ex= 1,972,405 1,263,500 708,905
510 =0E2x=S 740,250 400,000 340,250
511 =08x3sS 740,250 400,000 340,250
511-01 =12=x= 740,250 400,000 340,250
OMAHA RUEX 740,250
520 Al,EHIEXZ2S 1,232,155 863,500 368,655
521 Al - SHIEEESS 1,232,155 863,500 368,655
521-01 Al - SHIE X3S 1,232,155 863,500 368,655
OMAHA PUEX 370,125
OMd&BA 2HH X 189,000
OAUWHA HHIXE 22 185,000
ONSIHA B s SN 30,000
OXEE AMII=EI T2 75,530
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N = 0 &8 AF S & Al A
20ME T 20Aa LEHSIH nSHFHW ~ DSHH
2N NS#HE
Ha: DNEUMAIES 44X L NEHEMNYH 29
TRl NEHMAIEE & & |IE% (e
- _ _ bSRE Y=
2MH - 2 . H2(ZH) - MEAY - BES 0] AFCH @;OH Hns
nEd 35,991,341 27,910,673 8,080,668
= 740,250
< 1,232,155
Al 34,018,936
UEATALE 27 ¥ WETFEMYH 29 1,223,183 1,309,227 /86,044
= 50,000
Al 1,173,183
WEHMAILEE &K & RIAUSS 890,633 989,477 N\98,844
= 50,000
Al 840,633
LED 4SS WXl 50,000 50,000 0
401 Al&H| L2 50,000 50,000 0
01 Al&HI 50,000 50,000 0
OLED S S 50,000
WSOHNAEZE X ¥ |X 2= 840,633 925,477 N\84,844
= 50,000
Al 790,633
101 Q124 4] 23,180 22,182 998
04 JIZLHIZ2XsEE 4 23,180 22,182 998
OXNSSER WHA QA 23,180
-J=3 38,6002 * 13 « 250 9,650
-R35YrY 38,600 * 19 » 52 2,008
PN E == Eay =y 38,600& * 198 = 15 579
- 344 120,000€ * 1H = 12€ 1,440
= 9,650,0008 = 4/12 3,217
— A2t 2R 4G
7,237& * 1Y = 25A12F = 12& 2,172
-54224Y
38,6002 * 1.5 = 1% » 40 2,316
-3 AE 19,942,000& * 5% 998
- JHAI X &bl 50,000& * 1& * 12& 600
- Y& S| 100,0008 * 1H * 23] 200
201 B3| 23,853 25,195 N 1,342
01 AF222|H] 4,845 5,055 A210
OUECHTAIL SXE4EH T=H| 750
-225 100,000& * 39 = 13] 300
- gsts 150,000& * 39 * 13] 450
ONEHMAIEHH 24| 4,095
—WEHHAIE HUIKRAELE 24
7,000 * 3% x 120 2,520
-0l WS AIEZFH S|
7,0008 * 3% * 752 1,575
02 S=2494l 19,008 20,140 N1,132
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Celr IEOEALS £ ¥ KX (ool @
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OdlS)| MI|otA HIIEH 19,008
- M0l 42,6003 * 35000 A~ 14,910
-=sF 6,830 * 6000 &~ 4,098
202 (4l 5,600 5,600 0
01 2| 5,600 5,600 0
OuUSAE SRFX0YI 5,600
206 M & H| 78,000 72,500 5,500
01 M=Hl 78,000 72,500 5,500
ONSsS(EZ2S) Madl 78,000
-NMIANSE 2,500& * 3,200H 8,000
-NIRAEZS 20,000& * 30074 6,000
-LEDN S S 120,000& * 2004 24,000
— XN AIZE EAIDI 500,000& = 204 10,000
—OtMKRE MEH] 150,000& * 2004 30,000
207 A FoHed| 33,000 3,000 30,000
01 A2 E9H| 33,000 3,000 30,000
ONSATALEL+TA SHEMN AT S|
3,000,000& * 13 3,000
OHM2Xt XGusSoHEISHE g AFREAH| 30,000
401 AlEHIZLL20H] 677,000 797,000 A 120,000
= 50,000
Al 627,000
01 Al&H| 667,000 787,000 A 120,000
OQuUEANSI| sIA 130,000
—ARAMETAl AlSD] 50,000,000 * 204 100,000
-3d8s A4 15,000,000& = 200 A 30,000
ONE2EHH L& 6,000
-2 &= ASI| dX
3,000,000& * 2o 6,000
QuUENSI KB 184,000
-dss Y BES FAES 50,000
-5 AMSHOHI DA(10E0]4H)
8,800,000& * 5CH 44,000
—LE N5 HE DA
25,000,000& * 204 A 50,000
-5 &d2 WA 20,000,000& = 2J0 2~ 40,000
OQUECHHANEZE FAE+ 20,000
OBdI=A nEsstd =4 77,000
- SHEHAIZEEAID AX
4,000,000 * 10JH 2~ 40,000
— 28T E&)D| 5,000,000& * 5JH A 25,000
—E2HEE SEASI| X
6,000,000 * 200 12,000
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GOl DEOFAIEE 84X ¥ RS CERE
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
OXte THE A 2,000,002 * 100km 200,000
OUQXI? S8l =¥ 64 LED C20E
ZXE DA 50,000
= 50,000
03 Al&=CHH| 10,000 10,000 0
ORSAMES &1 & SLTA ALY 10,000
DNENDHE 2% 332,550 319,750 12,800
DNENRHE 29 332,550 319,750 12,800
201 Ler2 gyl 299,750 291,750 8,000
01 At 2tel| 5,750 5,750 0
OMOHADIZBIt MAST
50,0002 * 7% * 13] 1,750
OHMEBE 2| 3,000
OJIZAREE 2| 1,000
02 B2 294,000 286,000 8,000
OZZRILMA 142,800
~®Jlz 1,900,0008 * 122 22,800
-sa2 10,000,0002! * 12 120,000
OAl & IS bl 151,200
- DENLHE XL 140,000
—CCTV H&Y BA 10,000
~ I LYl E BRI 1,200
206 TH2HI 32,800 28,000 4,800
01 M2l 32,800 28,000 4,800
OFNDEAS(SARHIZE)HOII| L CCTV
=zl 8,000,0002! * 410CH * 1% 32,800
NE OF =Y 513,812 908, 199 394,387
DNEUHNSE NEEE 513,812 898, 199 384,387
DEAMDCHEXE Ha 212,500 280,500 68,000
401 NEHIL208] 212,500 280,500 68,000
01 Al&H 212,500 280,500 68,000
OAD == X& Ha 112,500
~CAE SY=el 24X 280,0002 * 150m 42,000
~TAE AFHA &3
8,000,0002! * 29HA 16,000
~LOEXE 47 30,0009 * 50004 15,000
-~8HEE FH(Oes &)
6,500,0002! * 3HA 19,500
~RHEAHE AR 80,0002 * 25074 20,000
O0RI0l Y L0185 1o QHFALS X
5,000,002 * 2074 A 100,000
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307 QI2+0IA 99,312 105,989 N6,677
05 2IIRAE S 99,312 105,989 NG,677
Oegllussd 2SAE 99,312
401 Al&HIZL=SOHYI 202,000 507,000 305,000
01 Al&EHI 202,000 502,000 300,000
O0glol ns3& ANERIES
1,000,000& * 22| 2,000
O0elol nE3d AUME WS A (A
Ad 849) 200,000
Tus #9 M 31,831,483 22,847,666 8,983,817
= 740,250
S 1,112,155
Al 29,979,078
WEZHESAZ 801,540 846,685 A45,145
HAZSAIAE X 22 360,370 341,775 18,595
201 LEH2HH| 345,370 341,775 3,595
01 AtE22/H] 12,370 1,750 10,620
ONMeNII=EIt SM=E
250,000& = 79 = 13l 1,750
OFILMUI S8 M
36,0003 * 295014 « 13 10,620
02 3=l 333,000 340,025 AT,025
OAl & &EHI=XIHl 211,800
—HAZEAAY RIEs EY 200,000
—HItEE A 40,0003 * 29504 A 11,800
OZ232= ¥ MAl 121,200
-&ll=z 2,100,000 = 128 25,200
-—SHZ 8,000,000& * 12& 96,000
405 XtobE SHI 15,000 0 15,000
01 T =S H SHI 15,000 0 15,000
OHAZEEBAAY MHA UPS WX
15,000,000& = 1CH 15,000
HAZES A 441,170 184,910 256,260
201 Let2d| 4,270 3,950 320
01 AtE22|Hl 4,270 3,950 320
OMEeNII=EIt M=
250,000& = 79 = 13l 1,750
OnEFZYLEAI Y 2,520
202 (4Hl 2,400 2,400 0
01 =AY 2,400 2,400 0
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INE==[R=" ] 434,500 178,560 255,940
Al &b 432,500 173,560 258,940
OFFA et 4xl 200,000
OL=xtz &Il W™ 1,500,000& + 155CH 232,500
Al &2 Y| 2,000 5,000 A 3,000
OHAZE AL Al R HY] 2,000
tswns = e 13,199,928 10,775,606 2,424,322
= 740,250
& 1,112,155
Al 11,347,523
A 29 H 9,636,969 8,102,676 1,534,293
& 105,530
Al 9,531,439
ol 24| 15,629 14,156 1,473
04 JIZtMZ22XSE+ 15,629 14,156 1,473
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ol 2| 12,836
-Jlea 38,2002 * 22& « 12& 10,085
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OHA S22 e 85 ME
50,0003 * 400JH £ 20,000
OolisusE ¢ & =&l 4,000
oLtz 30,000
—&FA A FXE L=
2,500,000& = 123 30,000
OHOIg® =2
2,000,000& * 29Xl 4,000
O QI ERA ol 70,0003 = 69 420
OBE T oEA 9AE ALY
70,000& » 5H * 23| 700
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OAIIMAN WS PR 20,000
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= 30,000
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A& HI &SI 2,411,160 170,000 2,241,160
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& 370,125
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=RTL =2 451,000 754,500 303,500
= 70,000
Al 381,000
DYFHE E4 395,000 688,500 293,500
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401 AlA&HIL 20| 395,000 667,000 A292,000
= 70,000
Al 325,000
01 Al&tl 395,000 685,000 £290,000
OFBIE FHE ZLAY 300,000
OBYERNE A&EH(320H4) 10,000
OO0IMER FXPEM FHIBA 15,000
ONS 2 TYFIE X4(568m) 70,000
= 70,000
WE F=XHE eS| 35,000 35,000 0
402 Q12X 0| F 35,000 35,000 0
01 UATEBE 35,000 35,000 0
OWRFXFLISIIAFY 3,500,008 * 10747 35,000
SINSSH ORI 21,000 31,000 210,000
201 Yereg| 1,000 1,000 0
01 AtR2elt] 1,000 1,000 0
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401 Al&HIL 20| 20,000 30,000 10,000
01 Al&l 20,000 30,000 10,000
OSIDFEXE ORI FXHE XS4 20,000
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SR Hel 9,600 12,600 A3,000
201 Ygreg| 9,600 9,600 0
01 AtR2elt| 1,800 1,800 0
OYXIXIEZ AHES ME(HASLS)
3002 * 1,0000H * 6% 1,800
02 222 7,800 7,800 0
OYXIXY SHRI(HUAALS) 7,800
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-AUSH Q3 2502 * 50021 * 122 1,500
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101 Q1248 446,904 461,761 A14,857
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- Y EEIH) 100,009 * 15% « 23] 3,000
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-s= 150,0008 * 153 2,250
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-gats 50,0008 * 159 2,250
o= 100,009 * 15% 1,500
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201 L2 526,720 633,480 ~106,760
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OFIAVEE 25 NS M
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10,0002 * 38% » 122 4,560
OLE #AS U2+ AR
40,0002 * 33| * 2004 2,400
OLE DUE £2F 29
2,600,008 * 128 31,200
OFHAYL 24E LAY o= I NS 4,000
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~PDA 30,0002 * 40CH + 122 14,400
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201 LBty 30,000 29,475 525
01 AFR2/HI 30,000 29,475 525
OJIZAREEY| 12,000
OJIEt2H| 6,000
OO0R} & EU2LT Z4lH| 12,000
202 0FH| 92,400 87,120 5,280
01 2UhotHl 92,400 87,120 5,280
OBBE JI=LREF Y|
220,0002 * 353 * 122 92,400
203 R =AY 4,500 0 4,500
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OBE XMIAQEFY  100,0008 * 122 1,200

_14_




